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SN SIS M2
L CbIESE NINEIET
= o

Sl seimisIlY sl U (H9): 22)
SN - T - SR(SIH) - HIAY - BAS P plE<L" timE==l
2 S 5,086,496 5,073,496 13,000
= 682,864 682,864 0
s 1,112,000 1,112,000 0
== 3,291,632 3,278,632 13,000
FASUA 2 JEEE A48t 4,325,464 4,312,464 13,000
YAt/ 52 - 5E)
= 682,864 682,864 0
s 1,112,000 1,112,000 0
== 2,530,600 2,517,600 13,000
S| A 235 543,928 530,928 13,000
= 2,800 2,800 0
< 541,128 528,128 13,000
sgMED|sHY 43 N 309, 128 296,128 13,000
201 B2 112,928 102,928 10,000
01 AFR22ld| 44,380 34,380 10,000
OSdEd, S5 =8 10,000 0 10,000
405 XHHF SH| 3,000 0 3,000
02 =AM 3,000 0 3,000
O A=l 3,000 0 3,000
ANEsHARI N5t 2,224,000 2,224,000 0
s 1,112,000 1,112,000 0
== 1,112,000 1,112,000 0
SHAZ ATt SISt 1,141,000 1,141,000 0
s 570,500 570,500 0
< 570,500 570,500 0
401 Al EHIZLLOHY| 800,000 800,000 0
s 400,000 400,000 0
= 400,000 400,000 0
01 AlZHI 790,000 800,000 210,000
OLmMEXNATE 2 222 FNAN= 0 800,000 A800,000
s 0 400,000 400,000
S 0 400,000 400,000
OWER, 27 HSHZD Iy 2
A& SAt 790,000 0 790,000
s 395,000 0 395,000
< 395,000 0 395,000
02 Zeldl 10,000 0 10,000
OISR, 27 M2XMED JIH -4 &
A& SAH 10,000 0 10,000
s 5,000 0 5,000
= 5,000 0 5,000
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SA: SelER Smeins
M O BESH U ARG JISHL(SHYSL/ 5D - 5E)

ol AR Dl 2E (Erol: &)
S - B - SR(31H) - MRAY - BAS Ofl b 713 RS2

CEPEC LT P 1,704, 182 1,674,182 30,000

I 329,500 329,500 0

& 1,374,682 1,344,682 30,000

U BESH U st IS (SHHLSM/ 5L - &) 1,271,758 1,241,758 30,000

sy 329,500 329,500 0

= 42,258 912,258 30,000

HAAAIE DI & 150,000 120,000 30,000

EEPIEIEES 150,000 20,000 30,000

401 AIEHIZL 201 150,000 120,000 30,000

01 A&l 150,000 120,000 30,000

O PERSELSA 30,000 0 30,000
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A sEIIsE gL

M oF AEE S48 L THDIE HL(SHSSL/ S - S&)
ol SEIeI D8R (Er9l: &)
2H - ZH - A(3H) - MIRAIS - BHESF Oif &rod JIEH Blws2
SIS SFIeIRA 3,013,285 2,013,285 1,000,000
2 500,000 0 500,000
= 2,513,285 2,013,285 500,000
S5 AEE S48 U THIDIE KL (SYHSR/5Y - 55) 2,317,386 1,317,386 1,000,000
= 500,000 0 500,000
= 1,817,386 1,317,386 500,000
EETSEIBTESY 1,833,393 833,393 1,000,000
= 500,000 0 500,000
= 1,333,393 833,393 500,000
3T BBNL BLEY 1,000,000 0 1,000,000
= 500,000 0 500,000
= 500,000 0 500,000
401 AIEHIZLEHE] 1,000,000 0 1,000,000
= 500,000 0 500,000
< 500,000 0 500,000
01 AIZE] 1,000,000 0 1,000,000
Oz WM SAEY Xd 1,000,000 0 1,000,000
= 500,000 0 500,000
< 500,000 0 500,000
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SA Sl NI
BA: SENCAY BHSH(SPHYSM/ 5L - SE)

S NS LR

S - ZB - C9I(S1) - HIRAIY - BAS 0l bt I\ oy
=dJI1=3 XIAD& 15,887,091 15,796,561
= 1,187,300 1,097,035
= 8,239,000 8,239,000
= 6,460,791 6,460,526

Lt/ =g - 5&) 15,668,310 15,577,780

= 1,187,300 1,097,035

s 8,239,000 8,239,000

< 6,242,010 6,241,745

M sYelEss 1,597,550 1,507,020
= 896, 100 805,835

S 701,450 701,185

Y =gl 3MHA [ 315,000 225,000
= 315,000 225,000

308 AXIHHMSOIA 315,000 225,000
= 315,000 225,000

01 AXSHHBAEXS 315,000 225,000
OFd=sgel Zd85 M 315,000 225,000

= 315,000 225,000

s20|z d2us NI (SsHU/2E) 38,600 38,070
= 19,300 19,035

= 19,300 19,035

201 28+ 30,530 30,000
= 15,265 15,000

S 15,265 15,000

01 AtR:2telH| 10,530 10,000
OstsHH u=s X2 10,530 10,000

= 5,265 5,000

=S 5,265 5,000
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A seDIs® JIEE3
Hu: SRS ISR (SYHYRL/ Y - 5E)
B9l DBE AZOIMMA J|EEZ (Er9l: &)
A - B - AA(SH) - MPAY - BES Oif &rod JIEH Blws2
=olled JI2E2D 10,605,888 10,511,368 9,520
= 7,611,900 7,532,900 79,000
p] 99, 170 99,170 0
= 2,894,818 2,879,298 15,520
HEEA IS (SYHYA/ 5 - 55) 10,471, 141 0,376,621 9,520
= 7,611,900 7,532,900 79,000
p] 99, 170 99,170 0
= 2,760,071 2,744,551 15,520
DEE AZOIEMA J|EE 5,602,750 5,502,750 100,000
= 4,222,150 4,122,150 100,000
g 99, 170 99,170 0
= 1,281,430 1,281,430 0
BAZE JIE2LEA Dl S 100,000 0 100,000
= 100,000 0 100,000
403 REXISHHIS K20/ H 100,000 0 100,000
2 100,000 0 100,000
01 RXSHAEEE 100,000 0 100,000
OBIASE JIE2n 24 I8l AlY 100,000 0 100,000
2 100,000 0 100,000
2001 DIz 23 3,974,836 3,980,316 5,480
= 2,776,000 2,797,000 £21,000
= 1,198,836 1,183,316 15,520
AR ANIER SINAMH 2Y(XT) 44,000 12,960 31,040
2 22,000 6,480 15,520
= 22,000 6,480 15,520
101 Q1248 18,000 0 18,000
=2 9,000 0 9,000
= 9,000 0 9,000
04 RN E RS2+ 18,000 0 8,000
OADIEE S#E)|ISXA2Y
2,000, 0002/ +32+3% 18,000 0 18,000
= 9,000 0 9,000
= 9,000 0 9,000
201 LBr2| 20,000 2,960 17,040
2 0,000 1,480 8,520
< 10,000 1,480 8,520
01 Ar=2elt] 20,000 2,960 7,040
OADIER BHIIENR2SY 20,000 2,960 17,040
2 0,000 1,480 8,520
< 10,000 1,480 8,520
202 01t 6,000 10,000 24,000
=2 3,000 5,000 £2,000
= 3,000 5,000 £2,000
01 =LHoiH 6,000 10,000 24,000
OADIEE #E)|ISXASY 6,000 10,000 24,000
= 3,000 5,000 £2,000
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A SR JlsEal
M SEEY JeE2e(=sgullYdrd/ =Y - s&)
=2l oDl Dl 22 (AR ®E)
S - FE - S2(3A) - RAY - BAS ofl e plE<L" HlRE2
‘ = 3,000 5,000 A2,000
S ANEZ HEXJAME 29 (XIH) 47,000 83,520 A36,520
= 47,000 83,520 A36,520
308 XXISHHMSOIA 47,000 83,520 A36,520
= 47,000 83,520 A36,520
01 AXSHHBLEERS 47,000 83,520 A36,520
OADIEE SEXRJME KIJAA 47,000 83,520 A36,520
= 47,000 83,520 A36,520
s9 ADIE A (A0DI=20H) 1,594,500 1,844,500 A250,000
= 1,594,500 1,844,500 A250,000
403 AXISHER=01H 1,594,500 1,844,500 A250,000
= 1,594,500 1,844,500 A250,000
01 AIXIEMA=2E X 1,594,500 1,844,500 A250,000
Og0l D= E=ArY 1,594,500 1,844,500 A250,000
= 1,594,500 1,844,500 A250,000
JleEg Sdd 88249 AY 250,000 0 250,000
= 250,000 0 250,000
308 RHXISHHMISO0IH 250,000 0 250,000
= 250,000 0 250,000
01 AXSHHBLEERS 250,000 0 250,000
OlI=E22 sdid gd2g AlY 250,000 0 250,000
= 250,000 0 250,000
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SN =Y
=

SR

- SHR((Z]H) - MSA Ol &2t IEH
3,958,354 3,934,354
= 1,086,500 1,062,500
s 950,000 950,000
== 1,921,854 1,921,854
3,862,664 3,838,664
= 1,086,500 1,062,500
s 950,000 950,000
s 1,826, 164 1,826,164
267,600 243,600
= 39,000 15,000
S 228,600 228,600
24,000 0
= 24,000 0
24,000 0
= 24,000 0
01 XEXISHHIXt= 24,000 0
24,000 0
= 24,000 0
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